Non-Vehicular Source Fees Fiscal Year 2011-2012

Facilities

ID	District	Feepayer	2009 Emissions (Tons)	\$ Per Ton Fee	Fee
12626	BAAQMD	Valero Refining Company	7,232	\$234.62*	\$1,696,772
11	BAAQMD	Shell Martinez Refinery	3,843	\$234.62*	\$901,645
10	BAAQMD	Chevron Products Company	2,670	\$234.62*	\$626,435
14628	BAAQMD	Tesoro Refining and Marketing	2,193	\$234.62*	\$514,522
22	BAAQMD	Conoco Phillips Refining Company	1,694	\$234.62*	\$397,446
17	BAAQMD	Lehigh Southwest Cement Company	1,236	\$234.62*	\$289,990
16	BAAQMD	Conoco Phillips - San Francisco	819	\$234.62*	\$192,154
30	BAAQMD	Owens-Brockway Glass Container	352	\$234.62*	\$82,586
11661	BAAQMD	Rhodia, Incorporated	308	\$234.62*	\$72,263
1438	BAAQMD	New United Motor Manufacturing, Incorporat	291	\$234.62*	\$68,274
9	EKAPCD	California Portland Cement Company	3,137	\$234.62*	\$736,003
21	EKAPCD	National Cement Company	747	\$234.62*	\$175,261
28	EKAPCD	U.S. Borax	479	\$234.62*	\$112,383
20	EKAPCD	Lehigh Southwest Cement Company	369	\$234.62*	\$86,575
15	ICAPCD	Imperial Irrigation District	278	\$234.62*	\$65,224
100005	MDAQMD	Cemex - Black Mountain Quarry	2,538	\$234.62*	\$595,466
11800001	MDAQMD	Mitsubishi Cement	2,498	\$234.62*	\$586,081
1500039	MDAQMD	Pacific Gas & Electric - Topock Compresso	2,415	\$234.62*	\$566,607
900002	MDAQMD	Searles Valley Minerals	1,264	\$234.62*	\$296,560
1200003	MDAQMD	TXI Riverside Cement Company	1,187	\$234.62*	\$278,494
3100068	MDAQMD	Southern California Gas - South Needles	914	\$234.62*	\$214,443
50001051	MDAQMD	Ace Cogeneration Company	612	\$234.62*	\$143,587
1500535	MDAQMD	Pacific Gas & Electric - Hinkley Compresso	358	\$234.62*	\$83,994
59	NCUAQMD	Pacific Gas & Electric - Humboldt Bay Plant	1,166	\$234.62*	\$273,567
3	NSAQMD	Sierra Pacific Industries	289	\$234.62*	\$67,805
800089	SCAQMD	Exxon Mobil Oil Corporation	1,951	\$234.62*	\$457,744
131003	SCAQMD	BP West Coast Prod. LLC BP Carson Ref.	1,746	\$234.62*	\$409,647
800030	SCAQMD	Chevron Products Company	1,560	\$234.62*	\$366,007
800436	SCAQMD	Tesoro Corporation	980	\$234.62*	\$229,928

ID	District	Feepayer	2009	\$ Per Ton	Fee
			Emissions	Fee	
			(Tons)		
800362	SCAQMD	Conoco Phillips Company - Carson	646	\$234.62*	\$151,565
800363	SCAQMD	Conoco Phillips Company - Wilmington	592	\$234.62*	\$138,895
44577	SCAQMD	Long Beach City, SERRF Project	331	\$234.62*	\$77,659
114801	SCAQMD	Rhodia, Incorporated	322	\$234.62*	\$75,548
800026	SCAQMD	Ultramar, Incorporated	257	\$234.62*	\$60,297
19	SDCAPCD	General Dynamics NASSCO	303	\$234.62*	\$71,090
43	Shasta Co. AQMD	Wheelabrator Shasta E.C.I.	549	\$234.62*	\$128,806
1141	SJVAPCD	Chevron USA, Incorporated	759	\$234.62*	\$178,077
477	SJVAPCD	Pilkington North America, Incorporated	632	\$234.62*	\$148,280
2234	SJVAPCD	Occidental of Elk Hills, Incorporated	589	\$234.62*	\$138,191
593	SJVAPCD	Owens-Brockway Glass Container	404	\$234.62*	\$94,786
1547	SJVAPCD	Aera Energy LLC	362	\$234.62*	\$84,932
767	SJVAPCD	J R Simplot Company	359	\$234.62*	\$84,229
801	SJVAPCD	Saint-Gobain Containers, Incorporated	327	\$234.62*	\$76,721
2073	SJVAPCD	Covanta Stanislaus, Incorporated	322	\$234.62*	\$75,548
1128	SJVAPCD	Chevron USA, Incorporated	312	\$234.62*	\$73,201
1662	SJVAPCD	Gallo Glass Company	300	\$234.62*	\$70,386
598	SJVAPCD	Guardian Industries Corp	284	\$234.62*	\$66,632
Total		·	E2 774		¢12 202 20E

Total 52,776 \$12,382,305

<u>Legend</u>

BAAQMD: Bay Area Air Quality Management District **EKAPCD:** Eastern Kern Air Pollution Control District ICAPCD: Imperial County Air Pollution Control District MDAQMD: Mojave Desert Air Quality Management District NCUAQMD: North Coast Unified Air Quality Management District **NSAQMD:** Northern Sierra Air Quality Management District SCAQMD: South Coast Air Quality Management District SDCAPCD: San Diego County Air Pollution Control District Shasta Co. AQMD: Shasta County Air Quality Management District SJVAPCD: San Joaquin Valley Air Pollution Control District

^{* \$234.62 = \$184.05} Base Fee + \$50.57 Supplemental Fee

Non-Vehicular Source Fees Fiscal Year 2011-2012

Architectural Coatings

Feepayer	2009 VOC	\$ Per Ton	Fee
	Emissions	Fee	
	(Tons)		
Ace Hardware Corporation	305	\$184.05	\$56,135
Akzo Nobel Paints	976	\$184.05	\$179,633
Behr Process Corporation	3183	\$184.05	\$585,831
Benjamin Moore & Co.	803	\$184.05	\$147,792
Dunn-Edwards Corporation	888	\$184.05	\$163,436
Frazee Industries	445	\$184.05	\$81,902
Gardner Asphalt Corp.	0	\$184.05	\$ -
Henry Company	367	\$184.05	\$67,546
Kelly-Moore Paint Company, Inc.	1890	\$184.05	\$347,855
PPG Industries, Inc.	350	\$184.05	\$64,418
Rust-Oleum Corporation *#	1771	\$184.05	\$325,953
Sherwin-Williams Company, The	2145	\$184.05	\$394,787
Stoncor Group *	148	\$184.05	\$27,239
Tremco Group *	169	\$184.05	\$31,104
Valspar Corporation	500	\$184.05	\$92,025
Vista Paint Corporation	0	\$184.05	\$ -
William Zinsser & Co. *#	0	\$184.05	\$ -

Total 13,940

\$2,565,656

^{*} Part of RPM International, Inc., but billed directly

[#] Zinsser emissions grouped with Rust-Oleum Corporation in 2009 & 2010 VOC Emissions.

Non-Vehicular Source Fees Fiscal Year 2011-2012

Consumer Products

Feepayer	2009 VOC Emissions (Tons)	\$ Per Ton Fee	Fee
3M Company	625	\$184.05	\$115,031.25
3M Company (for Bondo Corporation)	70	\$184.05	\$12,883.50
Aaron Industries	397	\$184.05	\$73,067.85
Ace Hardware Corporation, Paint Division	1,073	\$184.05	\$197,485.65
Alberto-Culver USA, Incorporated	392	\$184.05	\$72,147.60
Avon Products Incorporated	323	\$184.05	\$59,448.15
BASF Corporation	335	\$184.05	\$61,656.75
Bissell Homecare, Incorporated	30	\$184.05	\$5,521.50
Chemical Specialties Manufacturing Corporation	23	\$184.05	\$4,233.15
Colgate-Palmolive Company	283	\$184.05	\$52,086.15
Coty, Incorporated	401	\$184.05	\$73,804.05
CRC Industries, Incorporated	414	\$184.05	\$76,196.70
DAP, Incorporated	93	\$184.05	\$17,116.65
Diversey, Incorporated	773	\$184.05	\$142,270.65
Ecolab	394	\$184.05	\$72,515.70
Henkel Corporation (for Henkel of America)	333	\$184.05	\$61,288.65
Homax Holdings, Incorporated	253	\$184.05	\$46,748.70
Kay Chemical Company	96	\$184.05	\$17,668.80
Kop-Coat, Incorporated	10	\$184.05	\$1,840.50
L'Oreal USA	625	\$184.05	\$115,031.25
Mast Global	478	\$184.05	\$87,975.90
MOC Products Company, Incorporated	346	\$184.05	\$63,681.30
Parfums de Coeur	268	\$184.05	\$49,325.40
Penn Champ, Incorporated	235	\$184.05	\$43,251.75
Personal Care Products, Incorporated	444	\$184.05	\$81,718.20
Reckitt Benckiser, Incorporated	2,347	\$184.05	\$431,965.35
Republic Powdered Metals, Incorporated	5	\$184.05	\$920.25
RPM Wood Finishes, Incorporated (for Guardian Products, Incorporated)	34	\$184.05	\$6,257.70
Rust-Oleum Corporation	892	\$184.05	\$164,172.60

Feepayer	2009 VOC	\$ Per Ton	Fee
	Emissions	Fee	
	(Tons)		
S.C. Johnson & Son, Incorporated	1,508	\$184.05	\$277,547.40
Safeway, Incorporated	405	\$184.05	\$74,540.25
Shell Lubricants	347	\$184.05	\$63,865.35
SSDC, Incorporated	41	\$184.05	\$7,546.05
Sunnyside Corporation	975	\$184.05	\$179,448.75
Target Corporation	287	\$184.05	\$52,822.35
The Clorox Company	1,664	\$184.05	\$306,259.20
The Procter & Gamble Company	3,700	\$184.05	\$680,985.00
The Sherwin-Williams Company	3,870	\$184.05	\$712,273.50
The Testor Corporation	50	\$184.05	\$9,202.50
The Valspar Corporation	258	\$184.05	\$47,484.90
The Valspar Corporation, Consumer Division	58	\$184.05	\$10,674.90
The Valspar Corporation, Engineered Polymer	29	\$184.05	\$5,337.45
Solutions Division			
The Valspar Corporation, Valspar Refinish Division	3	\$184.05	\$552.15
Unilever Personal Care-North America	1,816	\$184.05	\$334,234.80
Unisource Worldwide, Incorporated	304	\$184.05	\$55,951.20
Victoria's Secret Beauty Company	380	\$184.05	\$69,939.00
Vi-Jon, Incorporated	292	\$184.05	\$53,742.60
W.M. Barr and Company, Incorporated	2,501	\$184.05	\$460,309.05
Walmart Stores, Incorporated	1,162	\$184.05	\$213,866.10
WD-40 Company	1,399	\$184.05	\$257,485.95
Zep, Incorporated	412	\$184.05	\$75,828.60
Zinsser Company, Incorporated	102	\$184.05	\$18,773.10
Total	33,555		\$6,175,981.80

Note: companies with VOC emissions below 250 tons are subsidiaries that were billed separately per the instruction of parent companies